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D C B A Questions / <= iy ’ - | _
=% v o= 5 - (}bo"{ﬂfg JV:’ Include| 1
Print Comments Main Header Include statements are written in section.
oot A A vl s 2N 8 ubfdiﬁcﬂfﬁf“y W |2
Collection Variable Jar Box can be thought as a container to store constants.
& S (31 ss €% —etnJeid Lo Sy % 7| 3
Square Factorial Remainder Percentage | The operator % is used to calculate:
Y| il < Iy, e SRS | 4
Logical Check Relational Arithmetic Which i ¢ ®
: ich is not a type of operator?
operator operator operator operator
FIASL o inS 1f SEbsL e 1fEse| 5
[l { O > g7
In If Else statement keyword If is followed by a- condmon
inside:
Jﬁf;é J'?fv( A, ﬂ/ e t’Ugc._s,g"Zv’/ U}/i{r'/:{/:/d’/"{ Wl 6
. Which control structure execute the program statements in
Sequential Conditional Repetitional Relational | grder? ]
?{”&{";)&V Pak 25l 7
4 3 2 1 for(inta=0;a<3;a++)
printf ("Pak™);
How many times Pak will print by using this statement?
q 5 i i Lo b kel Lo | 8
The index of first element of an array is:
e o 5 o7 A S Dedte o wUf6_d for| 9
Increment / Body Condition Initialization | Which part of for loop is executed first?
Decrement :
381 u@/ s By ‘—'é';@.j -l b//’lf}gﬂ uiﬁm._g 5):‘/'4 10
Including Re-writing Calling Defining means to transfer the control to another function.
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. (Part-1
Write short answers to any FOUR parts.
Define char data type.

Why we need programming environment?

Why do we use comments in programming?
Define escape sequence.

Which operators are used for arithmetic bperation?

What is the output of following code:
void main ()

{
intx=2;y=3,z=6, ans;
ans = z/x + x*y;
printf ("% d" , ans);

}

Write short answers to any FOUR parts.
Write two types of control statement;

What is the use of nested selection structure?

Why do we need conditional statement?

Identify the errors of this code:
int a;
if (a>40)
printf (PASS);

Declare an array of float type to store 10 students marks.

What is meant by data structure?
Write short answers to any FOUR parts.
Write syntax to declare an array.
Identify the errors of this code:
intaf[3={2,3,4}
Define function.
What is meant by function arguments?

What do you know about return keyword?
What is meant by reusability of a function?
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void main ()

{
intx=2,y=3,z=6, ans;
ans = z/x + x*y;
printf ("% d" , ans);

}
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int a;
if (a >40)
printf (PASS);
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Part - II, Attempt any TWO questions. Each question carries 08 marks.

& ) 2L c felf (IDE) & i1ssekssisy Zak)

What is Integrated Development Environment (IDE)? Write the IDEs for C-Language.

What is the difference between< , > , =, = =

o"d/uu*///l<a>’=s=
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Write a program in C-Language that takes a number from user and prmts table of that number (using loop)

on a screen.
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Analyzing a Searching a Dividing a Divideand |The steps to divide large problem into small problems is
problem problem problem conquer  |called:
Hia g Ly s - e Sh 2
o B A is a block of statements which performs a
Parameter Function Program Computer particular task.
’ & " > s [l e
ol Bt A é‘,_: ol % Lu"ﬁ:z‘iéé./r/ W’fé./iu:%‘f‘ug 3
-7
Both"A" & "B" Before After At the time of |To initialize the array ina single statement, initialize it | -
declaration. "~ _
N & o { ?.’33 .3
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Function Expression Condition Loop makes it easigf®rscad and write values in array.
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Check-conisol Repetition Selection Sequential Which is not a typs M’F‘CUI/'ltl'Ol stabetiientd
control control control 3 pe-o ‘ )
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7 3 3 2 There are ___/ types of control statement in
C-language. ' : :
A Vet | eisplinad | s o e en BTl ALE R c| 7
i 7 ‘ 2
None of these | (kT AL AL «U¥ | Whichis trise about C-language?
All logical 2 Y Cis ngtt_case
operators are k . d sensitive
binary operator gg"zs; 4 ::n language ‘
variable name
e o o o e CHN| s
None of these ' Which is a valid character?
oo 2 e vl e bW bl o pd L& SiFstog 9
Collection Variable Jar Box can be thought of as a container to store constant.
5 a = s gL A AL i) e
For initializing a variable we use operator.
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Write short answers to any FOUR parts.
Define IDE.

Define integer.

What are header files?

What is the output of the following code?
inta=4*3/(5+1 )+7%4;
printf ("% d", a);
Find errors in following code:
inta,b=13;
b=a%2;
printf ("Value of b is : % d, b);
What is meant by operator precedence?

Write short answers to any FOUR parts.

Define control statement,
Define sequential control.

Identify error in the following code:
if(x 2 10)
printf("Good");

Write syntax of if-else statement.
Define data structure.,

What is meant by index of array?

(U fincstz

Write short answers to any FOUR parts.

Find errors in following code:
for(intx=0;x<5 ;X +)
printf("World");

Write output of following code:
for (inta=1 ;a<4dja++)
printf ("Hello \ n");

What is user defined function?

How function improves the readability of the program?

What do you know about return keyword?

What is meant by return type of a function?
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inta=4*3/(5+l)+7%4;
printf ("% d" , a); -
ERN ST
inta,b=13;
b=a%2;
printf ("Value of b is : % d, b);
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if(x > 10)
printf("Good");
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for (intx=0;x<§ ;X +)
printf("World");

NSO
for (inta=1 ;a<4;a++)
printf ("Hello \ n");
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Part - II, Attempt any TWO questions. Each question carries 08 marks.

Enlist eight keywords in C programming language.

Define logical operators. Explain the types of logical operators.
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Write a program using for loop in C-language that prints odd numbers from 5 to 15 on the computer screen.
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